
CE610−1A_1

wavelength λ /nm
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P60

0,0

   

1,0

   

2,0

LMS_R17M5 cone sensitivity y−max(λ)=1
l−R17M5,1(λ)=B11x

−
R17M5,1(λ)+B12y

−
R17M5,1(λ)

+B13z
−

R17M5,1(λ)
B1j 0,2525 0,6666 −0,1717λ=570

P60:Σl−R17M5,1(λ)=20,66
xR17M5,1=0,4907
yR17M5,1=0,2501



CE610−1A_1

wavelength λ /nm
400 500 600 700

P55

0,0

   

1,0

   

2,0

LMS_R17M5 cone sensitivity y−max(λ)=1
l−R17M5,1(λ)=B11x

−
R17M5,1(λ)+B12y

−
R17M5,1(λ)

+B13z
−

R17M5,1(λ)
B1j 0,2525 0,6666 −0,1717λ=570

P55:Σl−R17M5,1(λ)=20,80
xR17M5,1=0,4990
yR17M5,1=0,2562



CE610−1A_1

wavelength λ /nm
400 500 600 700

P50

0,0
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2,0

LMS_R17M5 cone sensitivity y−max(λ)=1
l−R17M5,1(λ)=B11x

−
R17M5,1(λ)+B12y

−
R17M5,1(λ)

+B13z
−

R17M5,1(λ)
B1j 0,2525 0,6666 −0,1717λ=570

P50:Σl−R17M5,1(λ)=21,00
xR17M5,1=0,5091
yR17M5,1=0,2631



CE610−1A_1

wavelength λ /nm
400 500 600 700

P45

0,0

   

1,0

   

2,0

LMS_R17M5 cone sensitivity y−max(λ)=1
l−R17M5,1(λ)=B11x

−
R17M5,1(λ)+B12y

−
R17M5,1(λ)

+B13z
−

R17M5,1(λ)
B1j 0,2525 0,6666 −0,1717λ=570

P45:Σl−R17M5,1(λ)=21,28
xR17M5,1=0,5217
yR17M5,1=0,2708



CE610−1A_1

wavelength λ /nm
400 500 600 700

P40

0,0

   

1,0

   

2,0

LMS_R17M5 cone sensitivity y−max(λ)=1
l−R17M5,1(λ)=B11x

−
R17M5,1(λ)+B12y

−
R17M5,1(λ)

+B13z
−

R17M5,1(λ)
B1j 0,2525 0,6666 −0,1717λ=570

P40:Σl−R17M5,1(λ)=21,68
xR17M5,1=0,5374
yR17M5,1=0,2789



CE610−1A_1

wavelength λ /nm
400 500 600 700

P35

0,0

   

1,0

   

2,0

LMS_R17M5 cone sensitivity y−max(λ)=1
l−R17M5,1(λ)=B11x

−
R17M5,1(λ)+B12y

−
R17M5,1(λ)

+B13z
−

R17M5,1(λ)
B1j 0,2525 0,6666 −0,1717λ=570

P35:Σl−R17M5,1(λ)=22,28
xR17M5,1=0,5572
yR17M5,1=0,2872



CE610−1A_1

wavelength λ /nm
400 500 600 700

P30

0,0

   

1,0

   

2,0

LMS_R17M5 cone sensitivity y−max(λ)=1
l−R17M5,1(λ)=B11x

−
R17M5,1(λ)+B12y

−
R17M5,1(λ)

+B13z
−

R17M5,1(λ)
B1j 0,2525 0,6666 −0,1717λ=570

P30:Σl−R17M5,1(λ)=23,25
xR17M5,1=0,5825
yR17M5,1=0,2944



CE610−1A_1

wavelength λ /nm
400 500 600 700

P25

0,0

   

1,0

   

2,0

LMS_R17M5 cone sensitivity y−max(λ)=1
l−R17M5,1(λ)=B11x

−
R17M5,1(λ)+B12y

−
R17M5,1(λ)

+B13z
−

R17M5,1(λ)
B1j 0,2525 0,6666 −0,1717λ=570

P25:Σl−R17M5,1(λ)=24,93
xR17M5,1=0,6143
yR17M5,1=0,2985


